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[A#R : No. 31+15~No. 54]



HERER

[R#E : No. 31+15~No. 54]

I & & Al A Al iR - #HE SRETET L E HE
EREBET EREBET ik L m3 40, 302. 4 40, 300
BAL m3 40, 302. 4 40, 300
TSRLTY k ) RC-40 m3 7,894.6 7,890
KIFERY fEE m3 4,969.5 5, 000
4B 60. OkmLA T m3 2,484.8 2,480 | DIDHY
R T E#T RS LR (284 ¢ 1000) h=10. 4 X 1,916 1,916
7 IRFYIE - M LI | FL—U3TERER m 16, 415. 4
FL—o&# PN 1,506.0 1,506
B REERRIETE SRR 55038 7.0 7
R [Elpii 2.0 2
T HHERE R Bkt T EAL m3 506. 3 510
+:

BEBEEE + HMARUER | nd 153.2 150 |a s on a7
RIEY R E&HEKER T m3 68.5 70
EGUE | RC-40, t=100 m2 1,154.4 1,150

m3 115. 4

PPy}, 2. 0mx 251 | m2 1,489. 6 1,490 | 3y7° &O. 6m

R ERHE KRG FiEY m 874.5 T+ ITEE
BSEPES @300 m 18.0 18
BES JIFLVE ¢ 1350 m 56. 8 56. 8
= B500-L500-H800 | 1@ 2.0 2
B1600-L1600-H2000 | {& 2.0 2
B1800-L1800-H2000 | 1& 2.0 2
THS5%EET EAL m2 9.4 9
REETLDSHELT " m2 28. 4 28
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[A#R : No. 31+15~No. 54]



[No. 31+15~54]

AR R TR

T A A & =-Eiv2 nE HE
ERGRRT =X 1
ERHRRT =X 1
ikt m3 40, 302. 4
BAL m3 40, 302. 4
TRy b =% 1
BA RC-40 m3 7,894. 6
=LY = 1
TR A m3 4,969.5
7% L EH m3 2,484.8
HMBERRT
BT
REESLIE (28h ¢ 1000)
h=5. 5 P 0
h=10. 4 Z: 1916
h=10. 9 & 0
77 3AFYHE - M L=V
RL—UTREER m 16, 415. 4
FL—2F% Z: 1,506.0
BREEAIETE
TR G170 7.0
EhRIf =13 2.0




[A#3:No.31+15~No.54] ik B T (£ T)

AR RT
fizki3 BIREEL FIRN)LTY k
&= b=
WEE | FOMEE T=E BTEE | FHEEE T=
m m2 m2 m3 m2 m2 m3
1 |NO. 32 0. 000 187.8 0.00 0.0 19.7 0.00 0.0
2 [NO. 33 20. 000 186. 1 186. 95 3,739.0 20.9 20. 30 406.0
3 [NO. 34 20. 000 185.2 185. 65 3,713.0 21.4 21.15 423.0
4 INO. 35 20. 000 176. 4 180. 80 3,616.0 22.6 22.00 440.0
5 |NO. 35+01. 661 1.661 175.7 176. 05 292.4 22.6 22.60 37.5
6 |NO. 36 18. 339 166. 3 171.00 3,136.0 22.2 22.40 410.8
7 |INO. 37 20. 000 156. 1 161. 20 3,224.0 21.7 21.95 439.0
8 [NO. 38 20. 000 146. 3 151. 20 3,024.0 21.2 21.45 429.0
9 |NO. 39 20. 000 133.2 139.75 2,795.0 20.3 20.75 415.0
10 [NO. 39+10. 550 | 10. 550 128.5 130. 85 1,380.5 20.1 20. 20 213.1
11 INO. 39+15.000 | 4. 450 124. 3 126. 40 562. 5 20.1 20.10 89.4
12 [NO. 40 5.000 0.0 0.00 0.0 19.8 19.95 99.8
13 [NO. 41 20. 000 0.0 0.00 0.0 21.4 20. 60 412.0
14 INO. 42 0. 000 0.0 0.00 0.0 21.0 0.00 0.0
15 [NO. 43 20. 000 91.9 0.00 0.0 18.1 19.55 391.0
16 [NO. 44 20. 000 95.9 93.90 1,878.0 18.7 18. 40 368.0
17 INO. 45 20. 000 77.9 86. 90 1,738.0 17.2 17.95 359.0
18 [NO. 46 20. 000 80.3 79.10 1,582.0 17.8 17.50 350.0
19 [NO. 47 20. 000 64.9 72. 60 1,452.0 16.4 17.10 342.0
20 |NO. 48 20. 000 59.2 62. 05 1,241.0 15.9 16.15 323.0
21 |NO. 49 20. 000 56. 3 57.75 1,155.0 15.7 15. 80 316.0
22 |NO. 50 20. 000 47.8 52.05 1,041.0 15.7 15.70 314.0
23 |NO. 51 20. 000 51.0 49. 40 988.0 15.9 15. 80 316.0
24 |NO. 52 20. 000 57.2 54.10 1,082.0 16.3 16.10 322.0
25 |NO. 53 20. 000 66. 6 61.90 1,238.0 17.0 16. 65 333.0
26 |NO. 54 20. 000 75.9 71.25 1,425.0 17.6 17.30 346.0
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
I it 40, 302. 4 ,894.6
% &t 40, 302. 4 894.6

%No. 39+15. 0~No. 43R E D ERIARE L (FHFRRE TE L




[A#3:No.31+15~No.54] ik B T (£ T)

AR RT
=2 1,5 fizki3 FERIEY
gEm |roman] t8 | wEm | a0 | t=
m m2 m2 m3 m2 m2 m3

1 |NO. 32 0. 000 25.3 0.00 0.0
2 [NO. 33 20. 000 24.1 24.70 494.0
3 [NO. 34 20. 000 22.4 23.25 465.0
4 INO. 35 20. 000 17.2 19. 80 396.0
5 |NO. 35+01. 661 | 1.661 16.8 17.00 28.2
6 |NO. 36 18. 339 15.0 15.90 291.6
7 |INO. 37 20. 000 14.0 14.50 290.0
8 [NO. 38 20. 000 13.1 13.55 271.0
9 |NO. 39 20. 000 11.5 12.30 246.0
10 [NO. 39+10. 550 | 10. 550 10.6 11.05 116.6
11 [NO. 40 9. 450 11.0 10. 80 102. 1
12 INO. 41 20. 000 10.6 10. 80 216.0
13 [NO. 42 20. 000 1.4 9.00 180.0
14 INO. 43 20. 000 6.0 6.70 134.0
15 [NO. 44 20. 000 6.6 6. 30 126.0
16 [NO. 45 20. 000 6.3 6. 45 129.0
17 INO. 46 20. 000 5.3 5.80 116.0
18 [NO. 47 20. 000 5.1 5.20 104.0
19 [NO. 48 20. 000 6.6 5.85 117.0
20 |NO. 49 20. 000 7.6 7.10 142.0
21 |NO. 50 20. 000 8.6 8.10 162.0
22 |NO. 51 20. 000 8.4 8.50 170.0
23 |NO. 52 20. 000 8.8 8. 60 172.0
24 |NO. 53 20. 000 12.2 10.50 210.0
25 |NO. 54 20. 000 16.9 14.55 291.0
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41

I B 4,969.5

= i 4,969.5




ElfET

RBIE S0 (2% ¢ 1000)

X [A# : No. 31+15~No. 54]

B/REM | g pxe | B/ REM | B/RRE | B/ AR | RELE
- 1-1 1-2 21 2= P
waE | (FHHRLE) &5t
Ll R L] R|LC|R]L|R|L]R] LR
h=5. 5 0
h=10. 4 260 | 466 | 313 | 291 | 306 | 140 | 140 1916
h=10.9 0

3No. 39+15. 00~No. 43DR R TIFHERHRE TESE




APERLBHER (EBIX) HBEIRIKER

[ZA#R : No. 31+15~No. 54]

RERE NI (28 ¢ 1000=1. 5m2)
WRIE A |BIEE|HBRXE BTG ZHTHR| ZBRE | EAR TEEE
S £ =S L e=
R fE p:F=3 K15 HEME AV ME
m Z:S T.P T.P m m m m m3 kg/m3 kg
No.31+15 ~  No. 32 8.0 27 5.8 5.3 -5.1 0.5 10.4 10.9 421.2 267.0 112, 460. 4
No.32  ~ No.33+10 8.0 81 5.8 5.3 -5.1 0.5 10.4 10.9 1263. 6 267.0 337,381.2
No.33+10 ~  No.35 8.0 84 5.8 5.3 -5.1 0.5 10.4 10.9 1310.4 267.0 349, 876. 8
H/ REMET-1| No.35 ~  No.37 8.0 102 5.8 5.3 -5.1 0.5 10.4 10.9 1591.2 267.0 424, 850. 4
No.37  ~ No.39+10 8.0 132 5.8 5.3 -5.1 0.5 10.4 10.9 2059. 2 267.0 549, 806. 4
No.39+10 ~ No.40+15 8.0 40 5.8 5.3 -5.1 0.5 10.4 10.9 624.0 267.0 166, 608. 0
No.40+15 ~  No. 41 8.0 0 5.8 5.3 -5.1 0.5 10.4 10.9 0.0 267.0 0.0
No.42+7 ~  No.43 6.2 0 5.8 5.3 -5.1 0.5 10.4 10.9 0.0 205.0 0.0
&

B/ RXE1-2| No.43 ~  No.49 6.2 251 5.8 5.3 -5.1 0.5 10.4 10.9 3915.6 205.0 802, 698. 0
No.49 ~  No.50 6.2 40 5.8 5.3 -5.1 0.5 10.4 10.9 624.0 205.0 127,920.0
No.50  ~ No.52+10 5.2 88 5.8 5.3 -5.1 0.5 10.4 10.9 1372.8 115.0 157,872.0

H/ RERE2-1
No.52+10 ~  No. 54 5.2 52 5.8 5.3 -5.1 0.5 10.4 10.9 811.2 115.0 93,288.0
No.31+15 ~ No.32+15 6.1 80 5.8 5.3 -5.1 0.5 10.4 10.9 1248.0 267.0 333,216.0
('fﬁéﬁ@ééi% No.32+15 ~ No. 33+10 6.1 63 5.8 5.3 -5.1 0.5 10.4 10.9 982.8 267.0 262, 407. 6
No.33+10 ~  No.35 6.1 117 5.8 5.3 -5.1 0.5 10.4 10.9 1825.2 267.0 487,328.4
No.35 ~  No.37 8.7 118 5.8 5.3 -5.1 0.5 10.4 10.9 1840. 8 267.0 491,493.6
No.37  ~ No.39+10 8.7 147 5.8 5.3 -5.1 0.5 10.4 10.9 2293.2 267.0 612,284.4

B/ RER1-1
No.39+10 ~ No. 40+10 8.7 48 5.8 5.3 -5.1 0.5 10.4 10.9 748.8 267.0 199, 929. 6
No.40+10 ~  No. 41 8.7 0 5.8 5.3 -5.1 0.5 10.4 10.9 0.0 267.0 0.0
No.42 ~  No.45 6.1 96 5.8 5.3 -5.1 0.5 10.4 10.9 1497. 6 205.0 307, 008. 0
H/ RXE1-2| No.45 ~  No.49 6.1 170 5.8 5.3 -5.1 0.5 10.4 10.9 2652.0 205.0 543, 660. 0

a

No.49 ~  No.50 6.1 40 5.8 5.3 -5.1 0.5 10.4 10.9 624.0 205.0 127,920.0
No.50  ~ No.52+10 5.2 88 5.8 5.3 -5.1 0.5 10.4 10.9 1372.8 115.0 157,872.0

H/ RERE2-1
No.52+10 ~  No.54 5.2 52 5.8 5.3 -5.1 0.5 10.4 10.9 811.2 115.0 93, 288.0
NE 6,739,168.8
& &[22 & ()=/Et+1000] 6,739.2

3No. 39+15. 00~No. 43D Y R TIFHFR/E TEIE




[A#R : No. 31+15~No. 54]

24 U MRIERMK

X il B/ ARE-1 | B/ AR[E1-2 | B/ RRE2-1
EEEZER 185.0 153.0 80.0
ZEITHR 0.5 0.5 0.5
BERE 10. 4 10. 4 10.4
EAE 10.9 10.9 10.9
BRE 50% 50% 50%
HETE 7269. 6 4539. 6 2184.0
RETHEAEME 410 290 260
LAl A#ELHFmE 600 460 -
FEME T ERME 150 115 115
WELTEHANE - - -
ARELEE 2.7 2.7 -
L BE 1.7 7.7 10. 4
WEIEE - - -
FHEILFIRME 267 205 115
ZEITHR 0.5 0.5 0.5
HER 10. 4 10.4 10.4
EAE 10.9 10.9 10.9
BRE 50% 50% 50%
HERTE 8939.0 4774.0 2184.0
ERETESEARE 410 290 260
RAI| H#ELEHHFME 600 460 -
¥t T ERINE 150 115 115
WELTEHANE - - -
BHELIEE 2.7 2.7 -
L EE 1.7 7.7 10.4
WEIEE - - -
FHELFIHRME 267 205 115




TS3RAFvIR—FFL—8ER

[A&4# : No. 31+15~No. 54]

KL—y KL—> KL—> KL—>
X [H 448 EwF TR P ITHRIER
m (m/ %) (X) (m)
M/ R 11 — B 5D 1.5 10.9 825 8,992.5

No. 32+3. 6~No. 39+12.9

B/ RER[ 1-2

—fp 1.5 10.9 382 4.163. 8
AR No. 43+5. 4~No. 49 Hl

B/ RXRE 2-1

—R&ER 1.5 10.9 299 3,259.1
No. 49~No. 53+18. 8

& &t 1, 506 16,415. 4

KEWT OHh—DHEIFXFL—2FKBERFTHD

10



TR - BEUMBER

[A# : No. 31+15~No. 54]

: TR L
AR (&) (&) L
X %
No. 35 7 2
y—— 7 2

11




[RiE7/OLFHEAER REKEL]

B KE:1,916K
RS —RFBREEGWNET

¢ 1000 —#&h 1.5m2

500K LI EDTEDHE

R—) 2T R BRI BRAEAE00ARLLEICDE250KEZ HEITIK) X
£ TRIERE (FH31R 1K)

={3+(1,916-500) /250} x 3

=274& 1K
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[A# - No. 31+15~No. 54])
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[A4#8 : No. 31+15~No. 54])

REx T&ERD

I & Al | Al iR B #H = i E
HIERER
BARLT BAL m3 506. 3
ZRihEETT
_ A+ :80m3
BEBEEE + BARUER m3 153. 2 | 153.2-68.5=84. 7
EELT
RIEY REEHEKRE T m3 68.5
BT BRI HERERR RC-40, t=100 m2 1,154. 4
m3 115.4
TR —F HHERER PP, 2. Om x 2% m2 1,489.6 | 3y7° &O0. 6m
1 E% HEK BR
R E% HEK BR FiEY m 874.5 | + T THE
BEPEE ¢ 300 m 18.0
amES VIFLE @ 1350 m 56.8
R B500-L500-H800 & 2.0
B1600-L1600-H2000 {&l 2.0
B1800-L1800-H2000 {&l 2.0
THnS5ET BAL m2 9.4
RiFELTDS5FET " m2 28.4
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KRR TR RO

[A#& : No. 31+15~No. 54]

R HEK B
EH By | TERER | $HERER B SEPERS aE A5t e
=iEY | p 300E FUIFLVE
¢ 1350

ER m 372.4 874.5 18.0 56. 8
ERLT

BiRELT m3 506. 3 506. 3

R+ m3 153.2 153.2

EEET

RIEY m3 68.5 68.5
BRI

EEF| (RC-40, t=100) m2 1,154.4 1,154. 4 | $ERER

m3 115. 4 115.4 "

TRI— b+ (PP) m2 1,489. 6 1,489.6 | 2.0mx2%|
R HEKER

e (B500-L500-H800) & 2.0 2.0

&t (B1600-L1600-H2000) & 2.0 2.0

4 (B1800-L1800-H2000) & 2.0 2.0

T D S5FEI (#9420 x 330 x 150) m2 9.4 9.4

L0 S5 I (#9420 330 150) | m2 28. 4 28. 4
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2.1 FREEERLIT
Bt
_ " ick:4 BRARE T (BHERERR)
= e BEH | ek +2 BEH | ek +8
m m2 m2 m3 m2 m2 m3

1 INO. 31 - - - 0.0 - -
2 [NO. 32 20. 000 0.00 0.0 1.5 0.75 15.0
3 [NO.33 20. 000 0.00 0.0 1.1 1.30 26.0
4 [NO. 34 20. 000 0.00 0.0 1.6 1.35 21.0
5 |[NO.35 20. 000 0.00 0.0 1.6 1.60 32.0
6 [NO. 35+01. 661 1.661 0.00 0.0 1.4 1.50 2.5
7 [NO. 36 18.339 0.00 0.0 1.3 1.35 24.8
8 [NO.37 20. 000 0.00 0.0 0.0 0.65 13.0
9 [NO.38 20. 000 0.00 0.0 0.0 0.00 0.0
10 [NO. 39 20. 000 0.00 0.0 0.0 0.00 0.0
11 |NO. 39+10. 550 10. 550 0.00 0.0 0.0 0.00 0.0
12 |NO. 40 9. 450 0.00 0.0 0.0 0.00 0.0
13 [NO. 41 20. 000 0.00 0.0 2.1 1.05 21.0
14 INO. 42 20. 000 0.00 0.0 2.7 2.40 48.0
15 |[NO. 43 20. 000 0.00 0.0 1.3 2.00 40.0
16 [NO. 44 20. 000 0.00 0.0 0.0 0.65 13.0
17 |NO. 45 20. 000 0.00 0.0 0.0 0.00 0.0
18 |[NO. 46 20. 000 0.00 0.0 0.0 0.00 0.0
19 [NO. 47 20. 000 0.00 0.0 1.3 0.65 13.0
20 |NO. 48 20. 000 0.00 0.0 1.2 1.25 25.0
21 |NO. 49 20. 000 0.00 0.0 2.5 1.85 37.0
22 |NO.50 20. 000 0.00 0.0 1.8 2.15 43.0
23 |NO. 51 20. 000 0.00 0.0 1.3 1.55 31.0
24 INO.52 20. 000 0.00 0.0 1.3 1.30 26.0
25 |NO.53 20. 000 0.00 0.0 1.4 1.35 21.0
26 |NO. 54 20. 000 0.00 0.0 1.4 1.40 28.0
27 |NO. 55 20. 000 0.00 0.0 0.0 0.70 14.0
28
29
30

A F 0.0 506. 3
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2.1 FREEERLIT
Bt
_ " ick:4 R
= e BEH | ek +2 BEH | ek +8
m m2 m2 m3 m2 m2 m3

1 INO. 31 - 0.0 - -
2 [NO. 32 20. 000 0.2 0.10 2.0
3 [NO.33 20. 000 0.5 0.35 7.0
4 [NO. 34 20. 000 0.4 0.45 9.0
5 |[NO.35 20. 000 0.4 0. 40 8.0
6 [NO. 35+01. 661 1.661 0.4 0.40 0.7
7 [NO. 36 18.339 0.2 0.30 5.5
8 [NO.37 20. 000 0.3 0.25 5.0
9 [NO.38 20. 000 0.4 0.35 7.0
10 [NO. 39 20. 000 0.4 0. 40 8.0
11 |NO. 39+10. 550 10. 550 0.4 0. 40 4.2
12 |NO. 40 9. 450 0.4 0. 40 3.8
13 [NO. 41 20. 000 0.4 0.00 0.0
14 INO. 42 20. 000 0.3 0.35 7.0
15 |[NO. 43 20. 000 0.4 0.00 0.0
16 [NO. 44 20. 000 0.4 0. 40 8.0
17 |NO. 45 20. 000 0.4 0. 40 8.0
18 |[NO. 46 20. 000 0.4 0. 40 8.0
19 [NO. 47 20. 000 0.5 0.45 9.0
20 |NO. 48 20. 000 0.4 0.45 9.0
21 |NO. 49 20. 000 0.3 0.35 7.0
22 |NO.50 20. 000 0.4 0.35 7.0
23 |NO. 51 20. 000 0.4 0. 40 8.0
24 INO.52 20. 000 0.3 0.35 7.0
25 |NO.53 20. 000 0.4 0.35 7.0
26 |NO. 54 20. 000 0.4 0. 40 8.0
217
28
29
30

A F 153.2

17




3.1 AFEBERLIT

HkT (RHEY)

&S AR == W i R W i +8
m m2 m2 m3 m2 m2 m3

1 |NO. 31 - 0.0 - -
2 |NO.32 20. 000 0.3 0.15 3.0
3 |NO.33 20. 000 0.1 0.20 4.0
4 |NO.34 20. 000 0.0 0.05 1.0
5 |NO.35 20. 000 0.1 0.05 1.0
6 |NO. 35+01. 661 1. 661 0.1 0.10 0.2
7 [NO. 36 18.339 0.0 0.05 0.9
8 |NO.37 20. 000 0.3 0.15 3.0
9 |[NO.38 20. 000 0.2 0.25 5.0
10 [NO. 39 20. 000 0.2 0.20 4.0
11 NO. 39+10. 550 10. 550 0.3 0.25 2.6
12 |NO. 40 9. 450 0.3 0.30 2.8
13 |NO. 41 20. 000 0.3 0.30 6.0
14 [NO. 42 20. 000 0.4 0.35 7.0
15 [NO. 43 20. 000 0.4 0.40 8.0
16 [NO. 44 20. 000 0.2 0.30 6.0
17 [NO. 45 20. 000 0.1 0.15 3.0
18 [NO. 46 20. 000 0.1 0.10 2.0
19 [NO. 47 20. 000 0.0 0.05 1.0
20 |NO. 48 20. 000 0.1 0.05 1.0
21 INO. 49 20. 000 0.1 0.10 2.0
22 |NO. 50 20. 000 0.0 0.05 1.0
23 INO. 51 20. 000 0.0 0.00 0.0
24 INO. 52 20. 000 0.2 0.10 2.0
25 |INO. 53 20. 000 0.0 0.10 2.0
26 |NO. 54 20. 000 0.0 0.00 0.0
27
28
29
30

At 68.5
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BEYNES L VIR (B EAE

4R - No. 31+156~54

HAE B
NO Ei b ~ 8T 5| ER (B fiE?
1 35 + 9.8 |~ 36 + 11.9| & 20.5
2 | 41+ 2.3 | ~| 42 + 6.6 | » 23.9
3| 47 + 9.8 | ~| 50 + 4.2 | o 5/.6
4 | 50 + 1.2 | ~| 54 + 9.3 | & 81.0
5] 31+ 141 |~ 3+ 189 | H 92.0
6 | 40 + 12.4 | ~] 43 + 6.6 | » 99. 1
1] 48 + 0.9 [~ 50 + 2.6 | u 42.3
INET 372. 4
=k 372. 4

19



BEYNES L VIR (B EAE

4R - No. 31+156~54

R 5% FBEK S (GR1E Y BEKER)

NO ik ~ 8T 5| ER (B fiE?
1 31 + 2.8 | ~| 42 + 8.0 | & 213.4
2| 42 + 156.3 | ~] 50 + 6.0 | » 149.0
31 50 + 10.7 [~ 54 + 0.0 ~» 69. 3
3| 31+ 148 |~ 36 + 6.2 | & 99.8
41 36 + 16.0 [~ 40 + 5.5 | 12.9
5| 40+ 1.7 [~ 47 + 151 | n» 148.9
6 | 47 + 19.0|~] 51 + 16.2 | 79.1
71 51 + 1.9 | ~] 54 + 0.0 ~» 42. 1

INET 874.5
=k 874.5

20




BEYNES L VIR (B EAE

4R - No. 31+156~54

2EPEE ¢ 300
NO Bfita ~ T Ef| ER (B BEE
1| 42+ 86|~| 42+ 137| % 5.0
2| 50+ 61|~ 50+ 10.7] % 4.5
3] 40+ 68[~| 40+ 12| =% 4.5
4| 47+ 151 |~| 47+ 19.0| n 4.0
INE 18.0
&5 18.0

21




BIEYAIE S K VIR (EFT)

SRS

4R - No. 31+156~54

REZAEEKE (SMER VIFLVE ¢ 1350)

NO Ei b ~ 8T 5| ER (B fiE?
1 41 + 13.3 |~ 41 + 151 | & 2.2
2| A1+ 13.2 |~ 42 + 1.4 | o 23.0
3| 42 + 8.6 |~| 42 + 11.8 | u 3.2
41 40 + 8.5 |~ 40+ 11.6 | & 3.2
41 40 + 12.8 [~ 41 + 6.5 | 23.0
41 41 + 4.6 [~ 41 + 6.3 | 2.2
INEE 96.8
=k 56. 8

22




BEYNES L VIR (B EAE

4R - No. 31+156~54

¥z (B500-B500-H800)

NO Ei b ~ 8T 5| ER (B fiE?
1 42 + 8.3 y. 1.0
2| 40 + 11.4 a 1.0
INET 2.0
=k 2.0

23




BEYNES L VIR (B EAE

4R - No. 31+156~54

¥4 4t (B1600-B1600-H2000)

NO Ei b ~ 8T 5| ER (B fiE?
1 41 + 127 y. 1.0
2 | 41 + 1.0 a 1.0
INET 2.0
=k 2.0

24




BEYNES L VIR (B EAE

4R - No. 31+156~54

#4544t (B1800-B1800-H2000)

NO Ei b ~ 8T 5| ER (B fiE?
1 42 + 1.1 y. 1.0
2| 40 + 12.4 a 1.0
INET 2.0
=k 2.0

25




2 ®

M T

[A#R : No. 31+15~54] H/ERER

HHEFER
4000

%0Q 3000 500

B F
RC-40, t=100

fE i i 57

EhR 3

200

(e
8=
DL=5.0 |
/iL**‘/—FZOOO
o, Nl T+ RY-+2000
PP, 2. Om x 231 3971 600
MERAERER L = 372.4m (XERAELYETL)
WEEt= 0100 m
L R
EHigB =( 3.000 +  3.200 )/2= 3.100 m
BB EES B wE
B
¥ RC-40, t=100
miE| A = 372.4 x 3.100 = m2 | 1,154.4
iR#E| V=1,1544 x  0.100 = m3 115.4
K — + PP, 2.0mx 2% (597 £0. 6m)
miE| A= 3724 x  4.000 = m2 | 1,489.6
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[&#& : No. 31+156~54] KIEY

iR 57

PRS-
'\/ [@») )
> 8l
DL=5.0
L/o 300
300
IR Y Pk
RERHEKIRER L = 874.5m  (XERRAEZEXLYEL)
IEH HFX By | #%E

R E% BE KB
FIEYHKEE PXEREYFIXERLTICTEHE
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5% BE/K B (2)

[A#R : No. 31+15~54] BEEPEE ¢ 300D

(No. 4243 - Z 48]

ERARERHEKRE

b3
500 x 500 x 800
EREE L1=5000
o~ EL=5. 221
T e ‘
EL=5. 096
= LA ‘
DL=5. 00 g : i/ g
= %% s g aly
VA7V
HEBHEE 124775 l 850 EL=5. 221
— RiE- 20K L BEEBER L3=6000
FH7% H-A/L3=4. 97/6.000=0. 828m
i
gs
g PE(Q 5 -
W 7|% ] )
E% B = s S
BRI ER L - EEEMIE 5 (RC40) HEEH
B1=1300 A=1. 02m2 B1=1300
R{E-HIER L1 =  6.000 m
EBMER L2= 4715 m
EREER L3 = 5000 m
2B EES B wE
& EPEE ¢ 300
BER L= 5000 = m 5.000
EELTT
RIEY
miE| A= 1.300 x 0.828 = m2 1.076
{K3&| V= 1.076 x  6.000 = m3 6.5
HERELD
miE| A= 1.300 x 0.012 =| m2 0.016
K#E| V= 0.016 X  6.000 =| m3 0.1
A (RC40) V= 1.020 x 4.775 = m3 4.9
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1 &% BE KR (3)
[# : No. 31+15~54] HEPEE ¢ 300Q

(No. 40+11. 43kt - A1)
AR A K

it
500 x 500 x 800

BRER L1=4500

=45 =
% i, 7
‘ 5650 = EL=5. 017
N 7 / DL=5. 00
200/ /L 30 >
XA
HEBHIEE 12-4188
B 140, IR R L AEEHES L3549
F9% HeA/L3=4.59/5. 419=0.847m
$E
g =
& % |3 o o
R 2|% 2 3
BRI 12 L R EEMIE 7 (RC40) Hith
B1=1300 A=1. 02m2 B1=1300
RIE-MHEZER L1 = 5419 m
HEMER L2 = 4.188 m
EREER L3 = 4.500 m
2B EES B wE
& EPEE ¢ 300
BER L= 4500 = m 4.500
EELTT
RIEY
miE| A= 1.300 0.847 = m2 1.101
K3&l V= 1.101 x 5419 = m3 6.0
HERELD
miEl A= 1.300 x 0.011 =| m2 0.014
A&l V= 0.014 x 5419 m3 0.1
A (RC40) V= 1.020 x 4.188 m3 4.3
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5% BE/K % (4)

: No. 31+15~54] EEEPEE ¢ 300Q)

(No. 4843 - A 4Al]

Z 1 A1
/@ ‘\v' Eﬁ /%( %% F@EE
o £ o |
A - %
RiE- 1B R L - EEEMIE KiE-ER L -EEERE
B1=1300 B1=1300
kS
A (RC40) R
A=1.02m2 B1=1300
EREER L1 = 4500 m
ARIEER L2 = 4.000 m
IHH R Hir | #HE
REEPEE ¢ 300 4 Al
EER L = 4.500 + 4.000 =] m 8.500
EEXT
FRYE Y
Efm*iE| A1= 1.300 x 0.530 = m2 0. 689
AEmEiE| A2= 1.300 x 0.514 = m2 0. 668
Z 1 A
A% V = 0.689 x  4.500 + 0. 668 x 4.000 = m3 5.8
% (RC40) V= 1.020 x  8.500 = m3 8.7
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5% BE/K % (5)

[A#R : No. 31+15~54) EMERY TF L V& ¢ 1350 (4

IEMAER
4942 E @ @
e b18 3707 61g X BH BT RICHET AREHE D 59302
1800 x 7800 X 2000 N
£ ms6)3 £ 1600 x 7600 2000
0.063% o 0.061% 0.091%
= ol et/ o] o =
w L @ vase Y 7 =
—rE (EL=4 764 = EL=4. 280
EL=4.260 / | Gt EF Y IFLV Y Bt ES YTV E ¢ 1350 L2=23000 _EL=4. 278, BES YTy E
61350 L1=320 ¢ 1850 L3=22
J0p ERMIER | 2200 ERMER 12-2-22600 2000 EBHMIES | 300
L1 B 95 L REERIER 1332400 H- a0
DL=0.00. T H-A/L3=58.0/32. 4=1. 790m
25 L B3=4441 ‘
BR4IE B1=3990 5 R L 524310
IR Y \ = VISFEBHES
| g 1A
Z g
FRHEMR B2=2200 7 (RC40) HEER
A=5. 10m2 B1=2200
PRYE-fhIER L1 = 32.400 m
HEBMIER L2 = 2000 4+ 22.600 + 3.000 = 27.600 m
EFREER L3 = 3.200 + 23.000 + 2.200 = 28.400 m
IHE | RN Bl | #H=E
BmERYIFLUE ¢1350
EIER| L = 28.400 = m 28. 400
EELT
FRIE Y
miE| A=( 3.990 + 2200 ) + 2 x 1.790 =| m2 5.540
{K3&| V = 5.540 X 32.400 =| m3 179.5
HELC
miE| A=( 4.441 + 4310 ) + 2 x 0.131 =| m2 0.573
A#&| V= 0.573 X 32.400 =| m3 18.6
#4A (RC40) V= 5100 X 27.600 = m3 140. 8
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[A#R : No. 31+15~54) EMERYY TF L V& ¢ 1350 (G4l

IEMER
5@ ® 5246
AREED D 10069 X BRBETRICHT 660 3926 660 %
B — 1800 x 1800 X 2000
i 2
1600 x T600X 2000 2 e
0.091% 0. 065% . 0.063%
EL=4.288 & S j’h ~ == EL=4.307
[La e e A e
ERES TP E EL=4.290 Bt ER IFLUE ¢ 1350 12223000 EL=d. 305 B A Y IFLvY
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300 | EBHIES 2000 ERHIES 12-2-22600 2200 | EBHIES
[2-1=200 - 12-3=3000
FIE-ERL £EERER 1332400
THy7 HeA/L3=54.9/32. 4=1. 694n DL=0.00
‘ B L B3=4433 ‘
FREIE B1=3894 m_x) Q BE L B2=4310
RiEY H= VIERERIHES
A=5.16m2 -
| g
bE|3 = =
2l ~
B = %
% g /
18 B2-2200 wEgew /| smEm
A=5. 10m2 B1=2200
RYE-MhEER L1 = 32.400 m
HEBEMIER L2 =  2.000 22. 600 + 3.000 = 27.600 m
FRIEER L3 =  3.200 23. 000 + 2.200 = 28.400 m
12 | CE B ] mE
SMER)IFLE ¢1350
SR L = 28.400 = m 28. 400
EELT
RIEY
| A=( 3.894 2.200 ) = 2 X 1.694 = m2 5.162
{K#E| V= 5.162 32.400 = m3 167.2
BRLC
| A=( 4.433 4.310 ) =+ 2 X 0.123 = m2 0.538
{KX%&| V= 0.538 32. 400 = m3 17.4
A (RC40) V= 5100 27.600 = m3 140. 8
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[A# : No.31+15~54] FQO - it O &

REHKE 0O - O

LD 5 (#3420 x 330 x 150)
A=2. 36m2

3874 )
\ 2100 ) D 5 (#9420 x 330 x 150) 230

S o VISMERHES |

i g : |

g 3l 3 [ <

| |
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\ . —]

3K EE U1600 x 1000
AE | CER B ] mE
To>S #9420 x 330 x 150 (12¢ 24 1) =0. 021m3)
&0 - w08

EE| A= 2360 x  4.000 A = | m 9 4
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bt:3)4:3
FRIEAE

N
QAN
NN &
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2R
R -
X & it
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IR HEK B ED
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VIERAERES
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WYUVER Li=  6.425 m 3 :
L2=  1.200 m g | |
L3=  1.200 m 2]
L4= 6.817 m +05%m 1600
ég.l.: 15.642 m HisKER U1600 x 1000
A8 | e En] HE
TD5 #4420 %330 x 150 (14825 Y =0. 021m3)
e v
mi&| A= 3.560 x 8.000 AT = | m2 28.4
HRtI=E
A3 V= 3.560 x 15.642 = | m3 55. 6
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Eige (1)
[A4& : No. 31+15~54] &5 #t (B500-L500-H800)

bR

['500 x 500 x 800
800
150, 500 150
1 1
R
e
1 —8%
| ~ B
900
800
150, 500 150
T T
g I al
o o ‘N‘iiﬂii 7‘ o
P ) ‘Liiﬂii 7! >
= | =
900
18 Y N= 1 @
TR
J300x 300 Al= 0.300 x 0.300 = 0.090 m2
BEEPER ¢ 300 A2= 0.150 x 0.150 x T = 0.071 m2
0.3
BB EES B wE
NIEE LT THIIFEEPEE ¢ 30012 TEH L
av9Y-p (o ck=18N/mm2)
BiAR{K V= 0.800 x 0.800 x  0.950 =| m3 0. 600
FER& (BPER) [ V2= 0.500 x 0.500 x  0.800
+ 0.090 x 0.150 m3 0.214
FERR (SR E) | V3= 0.071 x 0.150 m3 0.011
why-peH| V={ 0.600 — ( 0.214 +  0.011 )}x 1 =| m3 0.38
Eily
wisvEl[ A1=  0.800 x 0.950 x 4
—( 0.090 + 0.071 ) m2 2.879
BRIl A2=  0.500 x 0.800 x 4
—( 0.090 + 0.071 ) m2 1.439
Bt A=( 2.879 +  1.439 ) x 1 m2 4.3
ELFE 44 (RC40, £=200] A = 0.900 x 0.900 X 1 = m2 0.8
fE8MR = (B500-L500)
N= 1 = & 1
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(%R : No. 31+15~54] Hi#t (B1600-L1600-H2000)

e
1600 x 1600 x 2000
2000

0 1600 0
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ol 8 7 2 \\\\
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2100
2000
1740 5= (B1600 x L1600F8)
Of:jﬂb‘r‘ﬂ 1730 100
R |
geeg) g B oe
2100
1®EAEY N= 1 &
R mEiE
St EPEE ¢ 1350 A = 0.675 x 0.675 x T = 1.431 m2
12 | CER B ] %E
45t (B1600-L1600-H2000)
| 3¢+ TZIPEE ¢ 135012 TEH L
1v49Y-+ (o ck=18N/mm2)
BiAIA|l VI= 2,000 x  2.000 x  2.200 =| m3 8. 800
FERR (MNER) | V2= 1.600  x  1.600 x 1,900 + 1.740
x 1.740 x 0.100 m3 5.167
HERR (e | V3= 1.431 x 0.200 x 2 m3 0.572
wh)-ret| V={ 8.800 — ( 5.167 + 0.572 )}x 1 =| m3 3.06
pily o
BishEll A= 2.000 x  2.200 x 4
—  1.431  x 2 m2 14.738
BAREI| A2= 1.600 x 1.900 X 4 + 1.740
x 0.100 x 4 - 1.431 x 2 m2 9.994
BpE A=( 14738+ 9.994 ) x 1 m2 24.7
EEE# (RC40,t=200] A = 2.100 x  2.100 x 1 = m 44
#t.5.7= (B1600-L16008)
N = 1 = & 1
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(%R : No. 31+15~54] HEi#t (B1800-L1800-H2000)

e (5= 1)
1800 x 1800 x 2000
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0 1800 0
- 1240
s 77N
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] f‘jﬁb‘*‘? 1930 100
T L 173‘670 1 .
g g g | B —i8 g
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1EmHY N= 1T &
ERREE
S EPEE 1350 A = 0.675 x 0.675 X s = 1.431 m2
12 | CER B ] mE
& # i (B1800-L1800-H2000)
| 3¢+ TZIPEE ¢ 135012 TEH L
19Y-b (o ck=18N/mm2)
BARIK| Vi= 2.200 x 2.200 X 2.200 m3 10. 600
FERR (PAER) [ V2= 1.800 x 1.800 X 1.900 + 1.940
x 1.940 x 0.100 m3 6.532
PR () | V3= 1.431 x 0.200 X 2 m3 0.572
ayY-pst| v={ 10.600 — ( 6.532 + 0572 )}x 1 m3 3.50
B
BioyEl[ A1= 2.200 x 2.200 X 4
—  1.431 X 2 m2 16. 498
PP{El[ A2= 1.800 x 1.900 X 4 + 1.740
x 0.100 X 4 — 1.431 X 2 m2 11.514
Biprst| A=( 16.498 + 11.514 ) x 1 m2 28.0
ELHEF (RC40, £=200] A = 2.300 x 2.300 X 1 m2 5.3
#t.5.7= (B1800-L1800F3)
N = 1 L5 1
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